Jeep CJ7 / YJ Front Seat Mount Install Instructions ERP

(C82) Jeep CJ7 / YJ Front Seat Mounts

Install Instructions

PRPSeats.com /951.894.57104



Jeep CJ7 / YJ Front Seat Mount Install Instructions ERP

KIT COMPONENTS

MB2163-01
Qty: 1

MB2163-03_MIR = MB2163-03
Qty: 2 Qty: 2

MB2163-04 | MB2163-07
Qty: 1

NYLOCK NUT ’(‘
HEX BOLT FLAT WASHER ¥ \
7/16"-14 x 1" 7/16" 7/16"-14 ‘
Qty: 16 Qty: 32 Qty: 16 A

SEAT SLIDER KIT
Qty: 2 M. > '
el = /

HEX NUT
5/16"-18
Qty: 8

PHILIPS MACHINE SCREW
5/16"-18 x 1"
Qty: 4

PRPSeats.com /951.894.57104



Jeep CJ7 / YJ Front Seat Mount Install Instructions ERP

SEAT DIMENSIONS

PRPSeats.com /951.894.57104



Jeep CJ7 / YJ Front Seat Mount Install Instructions ERP

SEAT SLIDER ASSEMBLY - DRIVER

5/16" NUT
(SLIDER KIT)

5/16" NUT
(SLIDER KIT)

5/16" NUT
(SLIDER KIT)
5/16" NUT MB2163-03_MIR
MB2163-05 (SLIDER KIT)
/] 5

PHILIPS MACHINE SCRE
5/16"-18 x 1"
(SEAT SLIDER KIT)

Z, 3~ Q
SEAT SLIDER S 7 ‘ SEAT SLIDER
(SLIDER KIT) p : (SLIDER KIT)

PHILIPS MACHINE SCREW /
5/16"-18 x 1" 5/16" NUT

(SEAT SLIDER KIT) \&E , (SLIDER KIT) o > 5/16" NUT
(SLIDER KIT)

5/16" NUT
(SLIDER KIT)

o l7 / MB2163-06

PHILIPS MACHINE SCREW 5/16" NUT

5/16"-18 x 1" (SLIDER KIT)
(SEAT SLIDER KIT)

PRPSeats.com /951.894.57104



Jeep CJ7 / YJ Front Seat Mount Install Instructions ERP

SEAT SLIDER ASSEMBLY - PASSENGER

5/16" NUT
(SLIDER KIT)

5/16" NUT
(SLIDER KIT)

5/16" NUT
(SLIDER KIT)

5/16" NUT

MB2163-05 (SLIDER KIT)

MB2163-03_MIR

PHILIPS MACHINE SCREW
5/16"-18 x 1"

MB2163-03 (SEAT SLIDER KIT)

PHILIPS MACHINE SCREW
5/16"18 x 1"
(SEAT SLIDER KIT)

5/16" NUT
(SLIDER KIT)

SEAT SLIDER ' [ , 3 SEAT SLIDER
(SLIDER KIT) p = (SLIDER KIT)

5/16" NUT
(SLIDER KIT)

PHILIPS MACHINE
SCREW

5/16"-18 x 1"
(SEAT SLIDER KIT)

MB2163-02

5/16" NUT
(SLIDER KIT)

PHILIPS MACHINE SCREW
5/16"-18 x 1" '
MB2163-01 (SEAT SLIDER KIT) 5/16" NUT
(SLIDER KIT)

PRPSeats.com /951.894.57104



Jeep CJ7 / YJ Front Seat Mount Install Instructions ERP

OPTIONAL SEAT RISER

17-7/8" M

C/C SEAT MOUNT
MB2163-04

REPOSITION THIS BOLT
PIVOT POINTS TO RAISE AND LOWER
THE BACK OF THE SEAT

HEX BOLT
7/16"-14 x 1"

MB2163-04

FLAT WASHER
7/16"

FLAT WASHER
7/16"

) NYLOCK NUT
HEX BOLT / 7/16"-14
7/16"14 x 1" (>

MB2163-04

FLAT WASHER
7/16"

MB2163-03

FLAT WASHER
7/16"

NYLOCK NUT
7/16"-14

MB2163-03_MIR

MB2163-04 CAN BE MOUNTED INSIDE OR
OUTSIDE OF MB2163-03 AND
MB2163-03_MIR TO FIT YOUR SEAT BEST

PRPSeats.com /951.894.57104



Jeep CJ7 / YJ Front Seat Mount Install Instructions ERP

MOUNTING TO TUB

SET THE MOUNTS IN THE FACTORY SEAT
BRACKET LOCATION AND SECURE TO THE TUB
USING THE FACTORY SEAT MOUNTING BOLTS

PASSENGER SEAT MOUNT
FACTORY SEAT

MOUNTING BOLTS
FACTORY SEAT , . _ _n
MOUNTING BOLTS ‘ E=——= - /

_\‘

\{lﬁ\-\l

e w——_ WWE

’——

g I ‘ c
. — = ‘.
FACTORY SEAT ' AN \
MOUNTING BOLTS FACTORY SEAT

MOUNTING BOLTS

DRIVER SEAT MOUNT

BE SURE TO PAINT ALL EXPOSED METAL TO|
PROTECT FROM CORROSION

PRPSeats.com /951.894.57104



